BATL.DOR

A MEMBER OF THE ABB GROUP

BALDORRELIANCENFR

Product Information Packet

GCF2X01AA

FX1-02-B5-56C HELICAL GEARS

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCEFR Product Information Packet: GCF2X01AA - FX1-02-B5-56C HELICAL GEARS

Nameplate NP1753A04

INPUT H.P. 2.00

RATIO 2 | R TORQ-INLB | 141
FX1-02-B5-56C

CAT./SPEC GCF2X01AA | | GR0222C031
DATE CODE

Page 205 BALDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BAILDORRELIANCERFE Product Information Packet: GCF2X01AA - FX1-02-B5-56C HELICAL GEARS

Parts List

Part Number Description Quantity
HG0020A09 RM1 HOUSING BODY W/56C & SNAP RING NOTCH 1.000 EA
HA4021A04 1/8 NPTF-HX SOC PIPE PLUG TAPER DRY SEAL 1.000 EA
SGO0025A11 RM1Q HELICAL PINION SHAFT ASSY, 2:1, 5/8 1.000 EA
HW5002A48 RET RING N5002 - 137 (WALDES) BEVELED 35 1.000 EA
SG0024A19 RM1 HELICAL OUTPUT GEAR SHAFT ASSY, 2:1 1.000 EA
HW3064G05 3/16 X 1/2 PIN DRIV-LOK TYPE H, HI-ALLOY 2.000 EA
HG0021A02 RM1 STD HOUSING COVER 1.000 EA
10XN2520K20 1/4-20 X 1.25" HX HD SCRWGRADE 5, ZI 4.000 EA
HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 | 4.000 EA
GF0019A01 RM1Q 56C INPUT FLANGE 1.000 EA
HW4600D20 SEAL 1.250 X 1.687 X 0.250 SGL LIP, 1.000 EA
10XN2520K32 1/4-20 X 2.00 HX HD SCRW GRADE 5, ZINC P 2.000 EA
10XN2520K18 1/4-20 X 1-1/8 HEX CAP SCREW, GRADE 5 2.000 EA
HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 | 4.000 EA
HW4600D21 SEAL, 0.750 X 1.124 X 0.188 SGL LIP, 1.000 EA
MJ1000B02 KLUB. GH6-460 GEAR OIL 1 LITER 0.048 GA
MJ5004A35 ADHESIVE LOCTITE #243-31 50 ML 0.001 EA
MJ5001A19 LOCTITE #598 ULTRA BLACK, 50 LB PAIL, IT 0.010 LB
MG1000G28SPP 400-0096 Haps Free Met. Gray Lacg. 0.030 GA
LTO066A14 REDUCER RM MAINT FLYER - KLUBER GH6-460 1.000 EA
NP1753A04 NAMEPLATE, GR REDUCER, KLUBER GH6-460 1.000 EA
LB1242 ADHESIVE PATCH 1.10 X 2.03 X .045 THICK 1.000 EA
MJ1000B01 ANTISEIZE - ALTEMP Q NB 50, 750 GRAM CAN 0.001 EA
HA3556A01 WORM BORE PLUG 5/8 BORE, CAPLUGS 7TX 1.000 EA

Page 30f5 BALDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCEFR Product Information Packet: GCF2X01AA - FX1-02-B5-56C HELICAL GEARS

Parts List (continued)

Part Number Description Quantity
LB5048A02 TOE TAG, OIL PREFILL (WHITE), GH6-460 1.000 EA
35PA1000 PACKING GROUP 1.000 EA
HW2513A06 KEY .188 X 1.375 1018 STEEL 1.000 EA
HWO0003D07 USER H/W PKG - 3/8 BOLT & WASHER 1.000 EA

Page 405 BALDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BAILDORRELIANCERF Product Information Packet: GCF2X01AA - FX1-02-B5-56C HELICAL GEARS

o
o
2
q 2.06 4.77 5.81
o~
o
5 19 — 9.625 BORE
188 KEYWAY
.188 KEYWAY
(- 1.50 LONG
|- 13 ] -
|
.-
_ _ 4.504
L T 4501 |
ﬂ 1.675
4500 _f— T — | _ ‘
4257 7 1 |
L '
625 _| ;
624 B
— L.M
K u
— 87 |— 4 HOLES
.41 DIA
4 HOLES ON ¢5.88 B.C.
3/8-16 UNC—2B THRU
ON $5.88 B.C.

[}
Py
o
N
N
N
>
o
o
o

REV. DESC: CHG TOL. FROM .6250/.6245 TO .625/.624 .

REV. LTR: D [VERSION: 04 [ TOR: 000000716209 BE o RELIANCER

FILE: \CKA\00005\720  [REVISED: 09:13:21 10/11/2011 | BY: CKAPRBO RM1Q STD RATIO MULTIPLIER — 56C INPUT, 56C OUTPUT

MTL: — SH 1 of 2

Page 50f 5 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BAILDORRELIANCERF Product Information Packet: GCF2X01AA - FX1-02-B5-56C HELICAL GEARS

S —
S
o]
<
N
~N R —
o
o
o
[
S:1 RATIO
4:1 RATIO
5:1 RATIO
=)
bs)
o
N
N
N
>
o
3
REV. DESC: CHG TOL. FROM .6250/.6245 TO .625/.624 -
RE LR D VERSioN: oF [ s | BALDOR « DODGE ° AELIANCER
FILE: \CKA\00005\720 |REVISED: 08:13:22 10/11/2011 | BY: CKAPRBO RM1Q STD RATIO MULTIPLIER — 56C INPUT, 56C OUTPUT
MTL: — SH 2 of 2

Page 6 of 5 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



